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Sl. No.1
QBID:11001

In case of two goods for which the MRS is zero or infinite, then the nature of goods is :

. Perfect substitutes

. Normal goods

. Perfect compliments
. Close substitutes
(Option 1 [29701]) 1

(Option 2 [29702]) 2
(Option 3 [29703]) 3
(Option 4 [29704]) 4
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1. quf RyETTH

2. YR 9%

3. Q0 SRS

4. Fde YHETA
(Option 1 [29701]) 1
(Option 2 [29702]) 2
(Option 3 [29703]) 3

(Option 4 [29704]) 4
Answer Given by Candidate : 3
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Sl. No.2
QBID:11002

Which of the following is not true?

1. Total effect of price change on consumption of a good is a combination of income effect and substitution effect
2. For inferior goods. income effect is always larger than substitution effect, in absolute terms.

3. For corner solution MRS, # P—‘

4. For a normal good both the income and substitution effect hold
(Option 1 [29705]) 1
(Option 2 [29706]) 2
(Option 3 [29707]) 3
(Option 4 [29708]) 4
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(Option 1 [29705]) 1
(Option 2 [29706]) 2

(Option 3 [29707]) 3
(Option 4 [29708]) 4

[y

[39]

(98]




Answer Given by Candidate : 2

Sl. No.3
QBID:11003

The negative network externality in which a consumer wishes to own an exclusive or unique good such as specially
designed sports car is:

. Bandwagon effect
. Tequila effect

. Snob effect

4. Pigou effect

W I =

(Option 1 [29709]) 1
(Option 2 [29710]) 2
(Option 3 [29711]) 3
(Option 4 [29712]) 4
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(Option 1 [29709]) 1
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(Option 2 [29710]) 2
(Option 3 [29711]) 3
(Option 4 [29712]) 4
Answer Given by Candidate : 2

Sl. No.4
QBID:11004

When each player has chosen his or her optimal strategy given the strategy chosen by other player. the situation is referred to
as:

. Nash Equilibrium

. Wicksel's Equilibrium
. Prisoner's dilemma

. Co-operative Game
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(Option 1 [29713]) 1
(Option 2 [29714]) 2
(Option 3 [29715]) 3
(Option 4 [29716]) 4
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(Option 1 [29713]) 1
(Option 2 [29714]) 2
(Option 3 [29715]) 3

(Option 4 [29716]) 4
Answer Given by Candidate : 1

Sl. No.5
QBID:11005



A firm has the following total cost and demand functions: C= %03 —-7Q%*+111Q+50, Q = 100 — P. then find the profit

maximizing level of output (Q*) and maximum profit of the firm.

1.50 and 100
2. 111 and 2150
3. 11 and 111%
.7 and 84
(Option 1 [29717]) 1
(Option 2 [29718]) 2
(Option 3 [29719]) 3
(Option 4 [29720]) 4
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1
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.50 3R 100
111 3R 2150
3.11 3R 111%

4.7 3R 84
(Option 1 [29717]) 1
(Option 2 [29718]) 2
(Option 3 [29719]) 3

(Option 4 [29720]) 4
Answer Given by Candidate : 3
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Sl. No.6
QBID:11006

The condition of preferring a certain income to a risky income with same expected value is referred to as:

. Risk neutral

. Risk loving

. Risk averse

. Risk Premium
(Option 1 [29721]) 1
(Option 2 [29722]) 2
(Option 3 [29723]) 3
(Option 4 [29724]) 4
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(Option 1 [29721]) 1
(Option 2 [29722]) 2
(Option 3 [29723]) 3
(Option 4 [29724]) 4
Answer Given by Candidate : 3

Sl. No.7
QBID:11007



Which one of the following is not a component of My ?

. Currency

. Traveler's cheque
. Commercial paper
. Demand deposits
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(Option 1 [29725]) 1
(Option 2 [29726]) 2
(Option 3 [29727]) 3
(Option 4 [29728]) 4
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(Option 1 [29725]) 1

(Option 2 [29726]) 2

(Option 3 [29727]) 3

(Option 4 [29728]) 4

Answer Given by Candidate : 3

Sl. No.8
QBID:11008

The Keynes's animal spirits are closely associated with

. Past investment

. Current investment

. Aggregate income

. Aggregate expenditure
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(Option 1 [29729]) 1
(Option 2 [29730]) 2
(Option 3 [29731]) 3
(Option 4 [29732]) 4
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4. qHI 4
(Option 1 [29729]) 1
(Option 2 [29730]) 2
(Option 3 [29731]) 3
(Option 4 [29732]) 4
Answer Given by Candidate : 4

Sl. No.9
QBID:11009

In the Mundell-Fleming model, the monetary policy will be more effective when there is

. Perfect capital mobility and flexible exchange rate
. Perfect capital mobility and fixed exchange rate

. Imperfect capital mobility and flexible exchange rate
. Imperfect capital mobility and fixed exchange rate

L
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(Option 1 [29733]) 1
(Option 2 [29734]) 2
(Option 3 [29735]) 3
(Option 4 [29736]) 4
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(Option 1 [29733]) 1
(Option 2 [29734]) 2
(Option 3 [29735]) 3

(Option 4 [29736]) 4
Answer Given by Candidate : 1

Sl. No.10
QBID:11010

If the two events A and B are not independent then which of the following is correct?

. P(ANB) = P(A).P(B)

. P(ANB) = P(A) -P(B/A)
. P(ANB) = P(A) -P(A/B)
.P(ANB) = 1-P(AUB)
(Option 1 [29737]) 1

(Option 2 [29738]) 2

(Option 3 [29739]) 3

(Option 4 [29740]) 4

gfe G 9e1U A and B Wadd gl g dl FERad H e 9l § |
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1. P(ANB) = P(A).P(B)

2. P(ANB) = P(A) -P(B/A)
3. P(ANB) = P(A) -P(A/B)
.P(ANB) = 1-P(AUB)
(Option 1 [29737]) 1

(Option 2 [29738]) 2

(Option 3 [29739]) 3

(Option 4 [29740]) 4
Answer Given by Candidate : 2
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Sl. No.11
QBID:11011

The chain-weighted index is

1. The total market value of goods and services produced in each year

2. The percentage growth in real GDP

3. A method for calculating changes in prices that used an average of base year from neighbouring years
. An Index that measures how the prices of goods and services included in GDP change.

4~

(Option 1 [29741]) 1
(Option 2 [29742]) 2
(Option 3 [29743]) 3
(Option 4 [29744]) 4
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(Option 1 [29741]) 1



(Option 2 [29742]) 2
(Option 3 [29743]) 3
(Option 4 [29744]) 4
Answer Given by Candidate : 3

Sl. No.12
QBID:11012

If the consumption function passes through the origin and APC = MPC then it must be:

. Linear without any intercept

. Non linear without any intercept

. Linear with a negative intercept on the income axis

. Linear with a positive intercept on the consumption axis

W N =

i

(Option 1 [29745]) 1
(Option 2 [29746]) 2
(Option 3 [29747]) 3
(Option 4 [29748]) 4
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1. T ot SRy & Y

2. fo T fadl sfeRfey & TRIRA®
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(Option 1 [29745]) 1
(Option 2 [29746]) 2
(Option 3 [29747]) 3
(Option 4 [29748]) 4
Answer Given by Candidate : 1

Sl. No.13
QBID:11013

Find the producer's surplus when
Py=3x”— 20x+5

P,= 15 + 9x (x is the quantity)
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(Option 1 [29749]) 1
(Option 2 [29750]) 2
(Option 3 [29751]) 3
(Option 4 [29752]) 4
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Py=3x—20x+5
Py= 15+9x(x1:ﬂ3ﬂ%)
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(Option 1 [29749]) 1
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(Option 2 [29750]) 2
(Option 3 [29751]) 3
(Option 4 [29752]) 4



Answer Given by Candidate : 3

Sl. No.14
QBID:11014

The demand function for good A is given by Q4 = 100 — 2P, + 0.2 Y + 0.3 Py. Find the income elasticities of demand Py =
6,Y =300, Pg=10

1.0.06
2.0.02
3.0.52
.—0.06

(Option 1 [29753]) 1

S

(Option 2 [29754]) 2
(Option 3 [29755]) 3
(Option 4 [29756]) 4

bl a¥g A B HINTUBTH / A, Q4 = 100 — 2P, + 0.2 Y + 0.3 Py fG@T AT,
PA=6.Y =500, Py =10 TR AT DI - (FART) JTd Hifoid |

1.0.06
2.0.02
3.0.52
.—0.06

(Option 1 [29753]) 1

+

(Option 2 [29754]) 2
(Option 3 [29755]) 3
(Option 4 [29756]) 4
Answer Given by Candidate : 3

Sl. No.15
QBID:11015

Find the substitution parameter p(rho) of constant elasticity of substitution (CES) production function when the elasticity of
substitution (o) is greater than one

1.p=0
2:p=1
3.-1<p<0
4. 0<p<w
(Option 1 [29757]) 1
(Option 2 [29758]) 2
(Option 3 [29759]) 3
(Option 4 [29760]) 4
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(Option 1 [29757]) 1
(Option 2 [29758]) 2
(Option 3 [29759]) 3
(Option 4 [29760]) 4



Answer Given by Candidate : 3

Sl. No.16
QBID:11016

In logit model, as the odds ratio decreases from 1 to 0, the logit becomes

1. Negative
2. Equalto 0
3. Positive

. Fraction

i

(Option 1 [29761]) 1
(Option 2 [29762]) 2
(Option 3 [29763]) 3
(Option 4 [29764]) 4

difere Aisd (WidRe) d, afe Saimard 1 9 o g1 SIIdl 3, 7 diieic gl S g :

1. BUTHD

2. YR & SRR

3. YdldHD

4. 147
(Option 1 [29761]) 1
(Option 2 [29762]) 2
(Option 3 [29763]) 3

(Option 4 [29764]) 4
Answer Given by Candidate : 3

Sl. No.17
QBID:11017

Given regression model as Y; = a; + B4 X; +B> (X; — X") D; + U; such a model is used to:

1. Deseasonalise a quarterly time series data
2. Seasonally adjust a monthly time series data
3. To conduct chow test for structural break in time series data
4. Test piecewise linear relationship in the data
(Option 1 [29765]) 1
(Option 2 [29766]) 2
(Option 3 [29767]) 3
(Option 4 [29768]) 4
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(Option 1 [29765]) 1

(Option 2 [29766]) 2

(Option 3 [29767]) 3

(Option 4 [29768]) 4
Answer Given by Candidate : 2
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Sl. No.18
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A player tosses two fair coins. He wins Rs. 5 if 2 heads occur, Rs 2 if | head occurs and Rs. 1 if no head occurs. Find his
expected gain.
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(Option 1 [29769]) 1
(Option 2 [29770]) 2
(Option 3 [29771]) 3
(Option 4 [29772]) 4
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(Option 1 [29769]) 1
(Option 2 [29770]) 2
(Option 3 [29771]) 3
(Option 4 [29772]) 4
Answer Given by Candidate : 4

Sl. No.19
QBID:11019

A card is thrown from a well shuffled pack of playing cards. Find the probability that it is either a diamond or a king.

17
=52

10
=59

18
52

35
" 52
(Option 1 [29773]) 1
(Option 2 [29774]) 2
(Option 3 [29775]) 3
(Option 4 [29776]) 4
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17
52

16
52

18
52

15
52
(Option 1 [29773]) 1
(Option 2 [29774]) 2
(Option 3 [29775]) 3
(Option 4 [29776]) 4
Answer Given by Candidate : 2

Sl. No.20
QBID:11020



In simultaneous equation models, OLS can be applied directly if

. It is a recursive model

. Order condition is satisfied

. Rank condition is satisfied

. Both order and rank conditions are satisfied

L
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(Option 1 [29777]) 1
(Option 2 [29778]) 2
(Option 3 [29779]) 3
(Option 4 [29780]) 4
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(Option 1 [29777]) 1
(Option 2 [29778]) 2
(Option 3 [29779]) 3
(Option 4 [29780]) 4
Answer Given by Candidate : 1

Sl. No.21
QBID:11021

The Rural Landless Employment guarantee Programme (RLEGP) was launched on :

. 15th August 1947
. 15th August 1950
. 15th August 1983
. 15th August 2000

(Option 1 [29781]) 1
(Option 2 [29782]) 2
(Option 3 [29783]) 3
(Option 4 [29784]) 4

ITHI0T YIS AR TRE BRIHH (3R T 3 Sif U Del I fdoam mar o1 2
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1. 15 3T 1947

2. 15 X 1950

3. 15 31X 1983

4. 15 A 2000
(Option 1 [29781]) 1
(Option 2 [29782]) 2
(Option 3 [29783]) 3
(Option 4 [29784]) 4
Answer Given by Candidate : 4

Sl. No.22
QBID:11022

The Foreign Trade Policy (2015-2020) was announced on which date ?

1. 1 August 2015
. 1 April 2015
.30 August 2015
.30 April 2015
(Option 1 [29785]) 1
(Option 2 [29786]) 2
(Option 3 [29787]) 3
(Option 4 [29788]) 4
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fae=r AR Hifd (2015-2020) BT 9N fd Y dRRE S B 715 A1 2

1. 1 3T, 2015
2. 1 3, 2015

3. 30 3T, 2015
.30 3{Ud, 2015

(Option 1 [29785]) 1
(Option 2 [29786]) 2
(Option 3 [29787]) 3
(Option 4 [29788]) 4
Answer Given by Candidate : 2
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Sl. No.23
QBID:11023

Who was the chairman of 14th Finance Commission in India ?

. Dr. Vijay Kelkar
.DrY.V. Reddy

. Dr. C. Rangarajan
.Dr. N.K. Singh
(Option 1 [29789]) 1
(Option 2 [29790]) 2
(Option 3 [29791]) 3
(Option 4 [29792]) 4

HRA & 144 o< M & e HIF Y 2

1. 31 a5 bR
2. 81 ds. 1. gl
3. 31 4l IRSH
4. 31T &, g

(Option 1 [29789]) 1
(Option 2 [29790]) 2
(Option 3 [29791]) 3
(Option 4 [29792]) 4
Answer Given by Candidate : 2
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Sl. No.24
QBID:11024

Zamindari Tenure was introduced by :

1. Thomas Munro

2. Lord Cornwallis
3. H. Venkatasubbiah
. G. Myrdal

(Option 1 [29793]) 1
(Option 2 [29794]) 2
(Option 3 [29795]) 3
(Option 4 [29796]) 4

STHICGRT W4T & B 3Td fhe i i 2
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(Option 1 [29793]) 1
(Option 2 [29794]) 2
(Option 3 [29795]) 3
(Option 4 [29796]) 4



Answer Given by Candidate : 2

Sl. No.25
QBID:11025

Which of the following is true in case of the non-marketed environmental resources?

1. Non excludable and non-rival in consumption
2. Excludable but not rival in consumption
3. Excludable and rival in consumption

. Non-excludable but rival in consumption

4~

(Option 1 [29797]) 1
(Option 2 [29798]) 2
(Option 3 [29799]) 3
(Option 4 [29800]) 4

R-fquforg yafeRvia Semt & A # Fefafid d S e I fieu agig T

1. SUHTT H IR-3UaeiHg 3R TR-ufaweff |
2. SUHATH 2Ugei-1, ofd ufaegef Taf|
3. SUHAT H 2aaei-1 3R ufaqaasf |

4. IYHAT H TR-3(qgoi-d, cifdr Ufaeaelf |

(Option 1 [29797]) 1
(Option 2 [29798]) 2
(Option 3 [29799]) 3

(Option 4 [29800]) 4
Answer Given by Candidate : 1

Sl. No.26
QBID:11026

Suppose 'X' places Rs. 8 value on one bread packet and "Y' places Rs. 6 value on it. If there is no tax on bread, then price of
bread packet is Rs. 5. so both X and Y choose to buy one packet each. Now suppose government levies a tax of Rs.. 2 per
unit, the price of bread rises to Rs. 7. Then the deadweight loss and tax revenue collected respectively are:

1. Rs. | and Rs.
2.Rs. 2 and Rs.
3.Rs. 2 and Rs.
4. Rs. 1 and Rs.
(Option 1 [29801]) 1
(Option 2 [29802]) 2
(Option 3 [29803]) 3
(Option 4 [29804]) 4

HH AT X U oS & Udbe DT el 8 ST FUIRT D1 8 3R v IUDI Hed 6 3T HYiRd PR g | Af¢ 58 W
I3 DR g1 A1 STl ¢ Al SIS & Ydhe DI e 53U ¢ | THIGY "X 3R 'y Uh-Udh Udve Wi g | 3Md Ul DR 2
Y Yfd gHeE B A Gl § dl S &1 el d¢hR 7 30 Bl Sldl § | Tl P HR 81 3R TUgId B Ieied HH: Bl -

1. 1 3097 3R 2 394
2.2 301 3R 4 3
3,2 37 3[R 2 ¥
.1 3091 3R 4390
(Option 1 [29801]) 1
(Option 2 [29802]) 2
(Option 3 [29803]) 3

(Option 4 [29804]) 4
Answer Given by Candidate : 2

B B I A

S

Sl. No.27
QBID:11027



The component which distinguishes primary deficit from fiscal deficit is :

. Non-debt component of capital receipt
. Interest payment

. Debt component of capital receipt

. Revenue deficit

L9 O
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(Option 1 [29805]) 1
(Option 2 [29806]) 2
(Option 3 [29807]) 3
(Option 4 [29808]) 4

FHfRad # U 9 91 9o WIS °91¢ S ASH NI 91 Y e HIdl © 2

1. GSfTd viftd &1 TR0 9edh
2. ST YITdH
3. Gofl1d UIftd 1 3601 e
4. I[S1Ed ©1eT
(Option 1 [29805]) 1
(Option 2 [29806]) 2
(Option 3 [29807]) 3
(Option 4 [29808]) 4
Answer Given by Candidate : 2

Sl. No.28
QBID:11028

Which of the following is not an assumption or conclusion of the inflation targeting approach ?

. Interest rate is the major instrument of monetary policy

. Higher interest rate controls aggregate demand

. Inflation is a supply side phenomenon

. Quantity of money supply is not very effective in controlling inflation

W N =
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(Option 1 [29809]) 1
(Option 2 [29810]) 2
(Option 3 [29811]) 3
(Option 4 [29812]) 4

AT § U DIH-91 SARIRA BRI T &1 Gaigar a1 56y 81 ¢ 2
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(Option 1 [29809]) 1
(Option 2 [29810]) 2
(Option 3 [29811]) 3
(Option 4 [29812]) 4
Answer Given by Candidate : 4

Sl. No.29
QBID:11029

In context of monetary policy. the sacrifice ratio refers to the

1. Interest cost arising because of crowding out effect

. Loss of real value of money at the face of increasing inflation
. Output cost of reducing inflation

. Labour cost raising minimum wage

W o
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(Option 1 [29813]) 1
(Option 2 [29814]) 2
(Option 3 [29815]) 3
(Option 4 [29816]) 4
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(Option 1 [29813]) 1
(Option 2 [29814]) 2
(Option 3 [29815]) 3
(Option 4 [29816]) 4
Answer Given by Candidate : 3

Sl. No.30
QBID:11030

Which of the following formula is used to calculate the yield of treasury bills (T-bills) where
Y = Discounted yield
P = Price

D = Days to maturity

_ Px365x100
Ly PxD
_— Dx365x100
PxD
_ (100 —P) =365 =100
3.¥ PxD
, (100 —D) % 365 % 100
4. Y= P TRIXIOXTR
4 PxD

o

(Option 1 [29817]) 1
(Option 2 [29818]) 2
(Option 3 [29819]) 3
(Option 4 [29820]) 4

FafeRad & 9 {69 Brjd &1 war AsbNg fodl (J-feh) & ufdwe o1 01 B & o fdhar S g wigl
Y = 9gHTd JdIG

P=Tc4
D = URTedI 3{dfe

|y P x365x 100
PxD
5 y= Dx365x100
PxD
3.y (100—P) x365X 100
PxD
4 y=100-D) x 365 x 100
PxD

(Option 1 [29817]) 1
(Option 2 [29818]) 2
(Option 3 [29819]) 3
(Option 4 [29820]) 4
Answer Given by Candidate : 3

Sl. No.31
QBID:11031

The faster growth and more equal distribution of income can be examined simultaneously by

1. Ginli ratio

2. Poverty-weighted growth rate
3. Kuznet curve

. None of the above

=



(Option 1 [29821]) 1
(Option 2 [29822]) 2
(Option 3 [29823]) 3
(Option 4 [29824]) 4

FafeRad fad gRT Ggaiieid U I did f[aer (Hqfe) 3R 3 & Hfid A [GaRvl &1 Sid Bl S Fobdl ¢ 4

1. ft 3T
2. AT uiRd gfg )
3. P Th
4. SRIdd H F PIg T&l
(Option 1 [29821]) 1
(Option 2 [29822]) 2
(Option 3 [29823]) 3
(Option 4 [29824]) 4
Answer Given by Candidate : 2

Sl. No.32
QBID:11032

Marx refers to the concept of organic composition of capital. Which one of the following ratios is used for this (where C is
constant capital, V is variable capital and S is surplus value)?

C

"V+S
C

Vv

(9]

. B,
" (C+V)
, (C+V)
4. v

(Option 1 [29825]) 1

(Option 2 [29826]) 2
(Option 3 [29827]) 3
(Option 4 [29828]) 4

A1 A Yol & Sifdd Yeed &1 Yoo & Jeord (Fed) [ § | 39 fore Fafafad F 1 T o gurd 8 (36l ¢
fRRRUSH g, v, TR UG g iR s, RN g §) 2

C
"V+S
C
v
C
. (C+V)
(C+Vv)
\%
(Option 1 [29825]) 1
(Option 2 [29826]) 2
(Option 3 [29827]) 3
(Option 4 [29828]) 4
Answer Given by Candidate : 2

ro

4.

Sl. No.33
QBID:11033

Which of the following is not true in the case of externality?

1. It is related to human interactions

2. It is tied to consumer sovereignty

3. It is based on higher order judgements of right and wrong
4. It is an amoral concept

(Option 1 [29829]) 1
(Option 2 [29830]) 2



(Option 3 [29831]) 3
(Option 4 [29832]) 4

el Yay J FgfiRad 4 $H 98 Tl © 2
1. g8 AFd-21=1 foharalt ¥ I&fid g
2. U8 JUMIEI YUYl Y Ygas g |
3. U8 g1 3R 7Tad el 3= T fHofal o sneiRd g
4. U8 U 3Hfdd Ahedi g |
(Option 1 [29829]) 1
(Option 2 [29830]) 2

(Option 3 [29831]) 3

(Option 4 [29832]) 4
Answer Given by Candidate : 4

Sl. No.34
QBID:11034

Compensating variation for a price decrease of a good can be interpreted as :

. Willingness to pay

. Willingness to accept
.Both [ and 2

. None

W N =

i

(Option 1 [29833]) 1
(Option 2 [29834]) 2
(Option 3 [29835]) 3
(Option 4 [29836]) 4

9% & Jed H HH! gd UARGBRI UHRUI Bl 39 $U H ARSI fehdl ST qhdl ¢ |

1. YT DR & Wil
2. WIHR & & Ufd dd=dl
3.1 3R 2 Al

4. BIs v =g

(Option 1 [29833]) 1
(Option 2 [29834]) 2
(Option 3 [29835]) 3
(Option 4 [29836]) 4
Answer Given by Candidate : 3

Sl. No.35
QBID:11035

Which of the following is an example of depreciation of natural capital?

1. Restoring rivers rendered unusable due to dumping of industrial effluents
2. Representation of areas that have been cleared for years of open-cut mining
3. Pollution-control activities by the public sector such as municipal waste treatment
4. Detoxifying unusable soils for urban or rural development
(Option 1 [29837]) 1
(Option 2 [29838]) 2
(Option 3 [29839]) 3
(Option 4 [29840]) 4

afciRId & U D19 Wihidd Usil & g &l Udb 3aIerU ¢ ?

1. 3IENM® Bl Bl b & HRUT VAT &4 TR ATl &1 SR |
2. G ([99d) G- & HRUT N J Well TS T &7 BT G- |

3. TRIY ORI FYeH & Sy Frdsd &3 gRI UGyl - gz aiafafef |
4.m6ﬁaquﬂwﬁ$m%§wmww<ﬁﬁmmmml

(Option 1 [29837]) 1
(Option 2 [29838]) 2



(Option 3 [29839]) 3
(Option 4 [29840]) 4
Answer Given by Candidate : 1

Sl. No.36
QBID:11036

Equivalent variation for a price increase of a good can be interpreted as:

Willingness to pay
Willingness to accept
Both | and 2

None

W N =

i

(Option 1 [29841]) 1
(Option 2 [29842]) 2
(Option 3 [29843]) 3
(Option 4 [29844]) 4

P4l 9% & Jed-91< S, YT USRI &I 39 ¥U H ARATIT [hd1 S bl ¢ 2

1. YT B o Ufd derdl
2. WIHR $HRA & Uid daxd]
3. YT B & Uld TR 3R WHR B &b Ul TRl Gl

4. BIs Hi 78

(Option 1 [29841]) 1
(Option 2 [29842]) 2
(Option 3 [29843]) 3

(Option 4 [29844]) 4
Answer Given by Candidate : 3

Sl. No.37
QBID:11037

According to the specific factors model. which of the following is correct?

1. Trade benefits the factor specific to the export sector of each country but hurts the factor specific to the import-
competing sectors with ambiguous effects on mobile factors
2. Trade hurts the factor specific to the export sector of each country and also hurts the factor specific to the import-
competing sectors, with ambiguous effects on mobile factors
3. Trade benefits the factor specific to the import sector of each country but hurts the factor specific to the export-
competing sectors, with ambiguous effects on mobile factors
4. Trade benefits the factor specific to the export sector as well as import-competing sector of each country, with
ambiguous effects on mobile factors.
(Option 1 [29845]) 1
(Option 2 [29846]) 2
(Option 3 [29847]) 3
(Option 4 [29848]) 4

TRy SRS (@1eH) AlSd & IR FHfaRad § 9 -9 Tgl § 2

1. R, YA &2 & Haid &7 1 et SR (H1eH) (AR &1 ary ugdrdi g fbg 9d (TiaRiie) dRO R gadd
(3REF) UTal dTd 31ad UicRge/faRT &3 9 Yafd HR A1y &1 Ih9H ugdrdi g |
2. AR, YD &% & Haid & 9 Yeiid dReb iRy o ug%rm%smaa (TiaRiTe) R®I R gudd
(3RY) THTAT aTd 21T - uﬁmwméﬁﬁﬁéﬁﬂmmﬁwu@m%
3. AR, Udd o= & AT &5 Y HedbRS (A8 &I Ty ugardl g fd=g 9d (Taiid ReI IR §udd (3y)
TUTE! ard Fafd-ufaayieRT &l 3 Yeid SR ARy & J69H ugardi g |
4. MR, WW%%WWWWU@@WWMM@W%@WWW
DI Y UGl g |
(Option 1 [29845]) 1
(Option 2 [29846]) 2
(Option 3 [29847]) 3
(Option 4 [29848]) 4



Answer Given by Candidate : 1

Sl. No.38
QBID:11038

What does 'immiserising growth' argued?

1. Export-biased growth by poor nations would worsen their terms of trade so much that they would be worse off than if
they had not grown at all

2. Export-biased growth by rich nations would worsen their terms of trade so much that they would be worse off than if
they had not grown at all

3. Import-biased growth by poor nations would worsen their terms of trade so much that they would be worse off than if
they had not grown at all

4. Import-biased growth by Rich nations would worsen their terms of trade so much that they would be worsen off than if
had not grown at all.

(Option 1 [29849]) 1
(Option 2 [29850]) 2
(Option 3 [29851]) 3
(Option 4 [29852]) 4

e Ay (@t S9fe) s as A3 2

1. R-T0F (@HEIR) IF N1 Fara suiia e, 3is SR @ 26l & dfe viiga (@ve) & o, iR 3 3R o wfaga @) g areh 8
S, 3R 31 faepa W fawr =37 fosan man |

2. ¥97 X gR1 fara snuia faems, R &1 <l & a1 e wfaga a1 <, i 3 3R off vfiga @) g1aa arcd g1 Sel, 3FR ST
favpa i fara 781 fova a1 |

3. TR-Tud 320 gR1 mara Syt fas, AuR $i 6l & 391 A4S ufaga 591 <, i 3 3R off vfoga @) grea ard g Snel, 3FR 3@t
faepa W fawr =31 fovan man |

4. 97 T R M ARG T, FMUR St 2@l $I 301 4Ue ufiga a1 o, & 9 3R +f 9fd $a @) gaa arell g1 STe, 3R S
favpa i fasra 781 fovar |

(Option 1 [29849])

(Option 2 [29850]) 2
(Option 3 [29851]) 3
(Option 4 [29852]) 4
Answer Given by Candidate : 1

Sl. No.39
QBID:11039

Which of the following postulates the Gravity Model correctly ?

1. The smaller and the closer the two countries are, the smaller the volume of trade between them is expected to be
2. The larger and the closer the two countries are, the larger the volume of trade between them is expected to be.

3. The larger and the closer the two countries are, the smaller the volume of trade between them is expected to be
4. The smaller and farther the two countries are, the larger the volume of trade between them is expected to be.

(Option 1 [29853]) 1
(Option 2 [29854]) 2
(Option 3 [29855]) 3
(Option 4 [29856]1) 4



FaicRad & 9 oH 3fddl disd o1 Ggl 671 Y UG HRaT g 2

1. &1 &2 Ford a9 TR & 3R FMdedR 8id g, S A8l ATUR &1 JET Sd-1 o] agaR (HH) TR R g $I S{Uel
3 g@gﬂ%ﬁé(w) 3R FPdR Bid 8, 31 Hed ATIR $1 AET 3a- gl ATID (o) TR W gH B SUel
3.?&?%1:3@%) 3R FdedR Bid €. 3P A AR (B HHT 3 ol aYR (H) TR R gI- I U

4. gmé;n@;ﬁ%gwéi 3R R BId g, 3P H AR B AET 34 ¢ ATD (F9) TR W G S U&T (=)

gl |

(Option 1 [29853]) 1
(Option 2 [29854]) 2
(Option 3 [29855]) 3
(Option 4 [29856]) 4
Answer Given by Candidate : 2

Sl. No.40
QBID:11040

If the nominal tariff rate (t) on consumers of the final commodity is 10 per cent, the ratio of the cost of the imported input to
the price of the final commodity in the absence of tariffs (ai) is = 0.8, and the nominal tariff rate on the imported input (ti) =
0, then find the rate of effective protection.

1.5%
2.8%
3.50%

4. 10%
(Option 1 [29857]) 1
(Option 2 [29858]) 2
(Option 3 [29859]) 3
(Option 4 [29860]) 4

i 3ifaq gud (@) & SUMTaRIISH IR A% Ued &3 (1) 10 U= 8. U=lewhi & 34T $i TG & 3ifcqd qug ot
DI & feTT ST =1 (3FTd) D1 AR DT ST (ai) = 0.8 WA=Id 8, R RTidd A= (37d) ( ti) W 3HifRIb
TRIe® X = 0 g, I UHTA! TREMUT B & J1d HIfoTT |

. 5%
. 8%
. 50%

4. 10%
(Option 1 [29857]) 1
(Option 2 [29858]) 2
(Option 3 [29859]) 3
(Option 4 [29860]) 4
Answer Given by Candidate : 2

W P9 =

Sl. No.41
QBID:11041



Which of the followings are true for ridge lines?

. they separate the relevant from the irrelevant portions of the isoquants

. along the ridge lines, the slope of the isoquants is either zero or infinite

. The relevant segment of the isoquants enclosed pertains to the stage II of production for labour and capital

. Producers will never want to operate outside the region enclosed within the ridge lines.

. The marginal product of both inputs-labour and capital is positive but declines for the portion of the isoquants within
the ridge lines.

MmO Nnwp

Choose the correct answer from the options given below:

1. A, C and D only
2.B. C and E only
3.A,C.DandE only
4. A, B.C,D and E only
(Option 1 [29861]) 1
(Option 2 [29862]) 2
(Option 3 [29863]) 3
(Option 4 [29864]) 4

R A d ey d FafaRed A Y I HYT 981§ 2

A.d U 3G & URTE Sl I ST 31l Y e Hrdl ¢ |
B. XS @131l IR U9 IIE] &1 &1t a1 d I el € T A gIen g |
C. Y9 qHIdIG! $I TS 9edh 41 IR Yol & oY Iare & fgdig 9=u1 4 Heifid giang |
D. 3dG®d BT Hi RSas-l U fok &7 & S1gx Uaa &A1 Tgl 9l |
E.?ﬁﬁ.ﬁmwmmwm%ﬁmmmﬁﬁwmé? 3R & fefu gedn
l
i feu U fadhedl § 9§ Ul SR &1 I8 BHiforg :

1.$dd A, C 3R D

2. $Hdd B, C 3R E

3. Hdd A, C,D 3R E
4. $ddA,B.C,D AR E

(Option 1 [29861]) 1
(Option 2 [29862]) 2
(Option 3 [29863]) 3

(Option 4 [29864]) 4
Answer Given by Candidate : 1

Sl. No.42
QBID:11042

Which of the followings are true about a fair game or fair bet ?

A. The entry of a fair bet is zero

B. The person who accepts fair bet is said to be risk lover

C. expected value of income from the bet is equal to the same amount of income with certainty
D. The person who refuses a fair bet is said to be risk neutral

E. The person who refuses a fair bet is said to be risk averse.

Choose the correct answer from the options given below:

1. Aand C only
2. B and E only
3. C and D only
4. C and E only

(Option 1 [29865]) 1
(Option 2 [29866]) 2
(Option 3 [29867]) 3



(Option 4 [29868]) 4

S Wef 3R 3fd a1l & IR # Fafcad # 9 o1 4 pyT W1 8 2

A. 3fId ool B uiaf® YR g |

B. 3d 9l &1 WIHR B dlcl Al Pl ANRIH-35gd Hgl Sl g |

C. JTSll ¥ YR 31 YT 31 & RIS gl g |

D. 3Id 9151 @I 3RAIBR B dldl Afdd DI SIRIH de] Hgl Sl g |

E. 3 aTST &1 SRAIBR HA alel G Bl SiRkay - AP bl S g |

i fau T fadeul # U UEl SR &1 994 i :

(Option 1 [29865]) 1
(Option 2 [29866]) 2
(Option 3 [29867]) 3
(Option 4 [29868]) 4
Answer Given by Candidate : 2

Sl. No.43
QBID:11043

According to the modern theory of rent

A. All the factors may earn rent

B. Rent can only be earned in long-run

C. Transfer earning of an unused factor is zero

D. Only land can earn rent

E. Entire earning of an unused factor is economic rent.

Choose the correct answer from the options given below:

1. A, Band C only
2. A, Cand E only
3.B.Cand E only
.A.CandD only

(Option 1 [29869]) 1
(Option 2 [29870]) 2
(Option 3 [29871]) 3
(Option 4 [29872]) 4

N



YD A Riid & IR

A. Gl SRS T 3T R Fobdl g |

B. @M &ad dlfdra | ifoid fhar ST adbdi g |

C. 2AUgad RSP P 3R 3G TN S |

D. bad Y T A R Gl o |

E. fdl 3{Ugad R Bl Gqul 31T dl 1 - Bl S g |

i feu U fadhetl § 9§ U1 SR &l 99 Biford :

1. $ad A, B3R C
2. $hdd A, C 3R E
3. ®Hdd B, C ARE
4. Had A, C 3R D
(Option 1 [29869]) 1
(Option 2 [29870]) 2
(Option 3 [29871]) 3

(Option 4 [29872]) 4
Answer Given by Candidate : 2

Sl. No.44
QBID:11044

Rational expectations views include :

A. The market clearing rational expectations do not approach to the Phillips curve
B. Rational expectation as a theory of expectations

C. An emphasis on the credibility of policy makers

D. A preference for policy making rules rather than discretion

E. Generally insists that markets do not clear rapidly.

Choose the most appropriate answer from the options given below:

.B. C and D only
.Aand E only
.A,B.C,DandE
4. A, D and E only
(Option 1 [29873]) 1
(Option 2 [29874]) 2
(Option 3 [29875]) 3
(Option 4 [29876]) 4

gfdaqof yeam=medt & faaR & M g -

A. STSIR AT Teieht afdaquf gt b g & e el g € |

B. U3 & R¥id & &9 § gidayuf yam=n

c. #fifq Faidrsi & faya-iada R 9d

D. fdde® (u3) $1 3uar HifaFaoreri ol gq a<igd

E. YH-c: 38 TR dafedl SIdl § fob STSiR gl alics I 2fed AT gl § |

il feu T fadeul # 9 UEl SR &1 994 i :

1. $ad B, C3IR D

2. Had AR E

3. HAdA A, B, C.D 3R E
4. $Hdd A, D 3R E

(Option 1 [29873]) 1
(Option 2 [29874]) 2
(Option 3 [29875]) 3

W NI =



(Option 4 [29876]) 4
Answer Given by Candidate : 2

Sl. No.45
QBID:11045

In the budget at glance, which of the following items are included ?

A. budget estimate of the current year

B. Revised estimate of the current year

C. Actuals of the current year

D. Actuals for the preceding year

E. Budget estimate for the forthcoming year.

Choose the most appropriate answer from the options given below:

1. Aand D only

2. A,B.D and E only

3. A, Band C only

4. C and D only
(Option 1 [29877]) 1
(Option 2 [29878]) 2
(Option 3 [29879]) 3
(Option 4 [29880]) 4

qoie 3re g |, Fefafad $19-0 7 & g #d g 2

A. I3 a9 BT dole Uradha-

B. IdHM ay &1 YN Urddhad

. 949 9y P aRAAD Uradha-
D. fUad oy & fau arafd® Urddhad
E. 3{7Tdl 94 & fTU doie Uradba-

i feu U fadhetl O 9§ U1 SR &l I8 Biford :

1. Hadd A 3RD

2. ®Hdd A, B, D 3R E
3. BAd A, B AR C
4.%Had C 3R D

(Option 1 [29877]) 1
(Option 2 [29878]) 2
(Option 3 [29879]) 3

(Option 4 [29880]) 4
Answer Given by Candidate : 2

Sl. No.46
QBID:11046

How do adverse technology shocks affect labour demand and supply?

A. Decrease the demand for labour

B. Both real wage and employment fall

C. Real wage increases and employment falls
D. Real wage falls and employment increases
E. Adverse effect on market equilibrium.

Choose the correct answer from the options given below:

1. A, Cand D only
2.B.D and E only
3. A, B, CandD only
4. A, B and E only

(Option 1 [29881]) 1



(Option 2 [29882]) 2
(Option 3 [29883]) 3
(Option 4 [29884]) 4

DIs Uidpd UIEIRTD! SATaTd, YH-H1T 3R Y[ DI S GHIdd Bl § 2

A. 99 gq dim d Bt
B. ARdfdd AoIgR] 3R ISR &A1 H HHl
C. ardided Toigdl | gig SR AR § fiRrae
D. dRdidd Heigl § fTR1a¢ 3R IASHIR H g
E. 9T9IR ¥ (Hda) R Ufddd UHEa

i feu T fasdhed! | 9 HEl IR Bl 9g- Bifolg -

1.$ad A, C 3R D
2.%dd B, D 3R E
3. Bdd A, B, C 3R D
4. PAd A, B 3R E

(Option 1 [29881]) 1
(Option 2 [29882]) 2
(Option 3 [29883]) 3
(Option 4 [29884]) 4
Answer Given by Candidate : 4

Sl. No.47
QBID:11047

Which of the followings are correct in case of Poisson distribution ?

A. 'n' the number of trials is indefinitely large i.e. n — =

B. 'p', the constant probability of success for each trial is indefinitely large
C. np =m is finite

D. p; =m+2

E.py=m+ 3m?

Choose the correct answer from the options given below:

1. A, C and D only
2. A, Cand E only
3.B, C and E only
4.B, C and D only

(Option 1 [29885]) 1
(Option 2 [29886]) 2
(Option 3 [29887]) 3
(Option 4 [29888]) 4

wEe famw & e F Fafifed s Y adi 82

A. T B FBA n, 34 g ¢ A4 n — o0

B. Ud® Tia01 3 Fwadl 31 i SUISEd, p, 3 S © |
C.np=m @@ 3 |

D.uy;=m+2

E. ;l4=m+3m2

:ﬁ%ﬁqmﬁmﬁ@ﬁwmwm

1.%dd@ A, C 3R D
2.%3@ A, C 3R E
3.%aa B, C 3R E
4.%ad B, C IR D

(Option 1 [29885]) 1
(Option 2 [29886]) 2



(Option 3 [29887]) 3

(Option 4 [29888]) 4
Answer Given by Candidate : 2

Sl. No.48
QBID:11048

Which of the followings are correct conclusions without error in case of testing of Hypothesis ?

A. Reject null hypothesis (Ho), when it is true

B. Accept Ho, when it is true

C. Accept Ho, when Alternate hypothesis (H;) is true.
D. Reject Ho when Hj is true.

E. Accept Ho when Hj is false.

Choose the correct answer from the options given below:

1. A, B and D only
2.B. D and E only
3.B, Cand E only
4. A, C and E only

(Option 1 [29889]) 1
(Option 2 [29890]) 2
(Option 3 [29891]) 3
(Option 4 [29892]) 4

Uadh el & G140 & HaiR H HRfiRad &1F U 1 i U 9 ey g 2

A. I UIdH el (Ho) & I gl 4 IR Hi 3Y RdIBR BT |
B. Ho & 4d §H IR WIHR BT |
C. Ho & 30 311 | Y WIHR DA, T (Alternative) Wb el (H,) T Bl.

D. H, & 9d §H TR, Ho &I 3RIHR B |
E. H, $ 3Ud g1 W, Ho Bl WIHR BT |

id fau T fadhedl § U Ul IR &1 989 DIfL :

1.$ad A, B3R D

2. $dd B, D 3R E

3. $hdd B, C 3R E

4. Pad A, C 3RE
(Option 1 [29889]) 1
(Option 2 [29890]) 2
(Option 3 [29891]) 3
(Option 4 [29892]) 4
Answer Given by Candidate : 2

Sl. No.49
QBID:11049

Which of the followings are correct for OLS estimation in the presence of Heteroscedasticity ?

A. The estimated coefficients are linear

B. The estimated coefficients are unbiased
C. The estimated coefficients are biased

D. The estimated coefficients are consistent
E. The estimated coefficients are efficient.

Choose the correct answer from the options given below:

1. A, C and D only
A, B and D only
A, C and E only
A

2.
3.
4. A, Cand D only



(Option 1 [29893]) 1
(Option 2 [29894]) 2
(Option 3 [29895]) 3
(Option 4 [29896]) 4

famfaeTiar &1 JufRfd # 6T U 3 Ud 39 a1 & 9R | HfaRad s 3 I8l g 2

A. TTdehieid Ul XRAD BId § |

B. UTabicid TUTd Mg gl g |

C. TTdhferd Turieh fege T e ¢ |
D. WTddhicid 0l S 8Id § |

E. e <rd 0T G4 Bid ¢ |

i fau T fadeul # 9 Ugl SR &1 994 i :

1.$ad A, C 3R D
2. Hdd A, B3R D
3. Had A, C 3R E
4. Pad A, C3RD
(Option 1 [29893]) 1
(Option 2 [29894]) 2
(Option 3 [29895]) 3

(Option 4 [29896]) 4
Answer Given by Candidate : 2

Sl. No.50
QBID:11050

Which of the followings satisfy the assumptions of the classical linear regression model ?

A. Zero mean value of disturbance Ui

B. The explanatory variables and the error terms are not independent

C. Homoscedasticity or constant variance of Ul

D. No auto correlation between the disturbances

E. There is more than one exact linear relationship between explanatory variables.

Choose the most appropriate answer from the options given below:

.A, B, Cand D only
.A,C,Dand E only
. A, CandD only
4. C,D and E only

(Option 1 [29897]) 1
(Option 2 [29898]) 2
(Option 3 [29899]) 3
(Option 4 [29900]) 4

W 9 =



AR ¥ U DI w19 G Ui AlSd $I aURUN $HI HYFP A 3 2

A. TSR vi @1 I A I

B. ARHATHD =R AR iyl U WA Tgi ld § |

C. ui I favd fqqifdr sryar g gaRo|

D. [Sd-0l & A I3 W-Ygdad gl gidl |

E. 31 SIS oR1 & 09 U 9 3% o1 Jad Gae g g |

i feu U fadheul O 9§ U1 SR &l 98 Biford :

1.$ad A, B, C 3R D
2. $Hdd A, C,D 3R E
3. Hdd A, C 3R D
4.$H9dC, D IARE

(Option 1 [29897]) 1
(Option 2 [29898]) 2
(Option 3 [29899]) 3
(Option 4 [29900]) 4
Answer Given by Candidate : 2

Sl. No.51
QBID:11051

If A, B and C are three different non-empty sets, then find which of the following are correct in laws of set operations ?

A (A) =A

B. (AUB)=1-(ANB)

C. AU (BUC)=(AUB) UC

D. Au(BNC)=(ANB)U(ANC)
E.A-B=ANB'

Choose the correct answer from the options given below:

. A, CandD only
.A. CandE only
.A.Band C only
.C,D and E only

(Option 1 [29901]) 1
(Option 2 [29902]) 2
(Option 3 [29903]) 3
(Option 4 [29904]) 4

A, B 3R ¢ dF i TRl (4R 80) 9H=d g, d =d &1 Ufthd & a9 | Fafafed aH-9 9@l €

A.(A) =A

B. (AUB)=1-(ANB)

C. AU (BUC)=(AUB) UC

D. AU(BNC)=(ANB) U(ANC)
E.A-B=ANB'

i feu U fadhedl O 9 Ul SR &1 I8 BHiforg :

1.$ad A, C 3R D
2. Hadd A, C 3IRE
3. Hdd A, B3R C
4. $9dC. D 3IRE

(Option 1 [29901]) 1
(Option 2 [29902]) 2
(Option 3 [29903]) 3
(Option 4 [29904]) 4
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